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For each question fré_;m 1 to 30, four options are given. One of them Is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical

Answer Sheet (OAS).
1. The diagram below shows some similarities and differences between some
animals.

Arimals

Give birth to its young Lay eggs
Feed on plants Feed on animals Feed on Feed on plants
only only animals only and animals
A B c b

From the diagram, we can conclude that animal(s)
(1) Alives onland
{2) Clivesinwater

{3} A and B might be mammals
(4) C and D are cold-blooded animals

p

(Go on to the next page)
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Shane needed to set-up a fair experiment to show that moisture is needed to make

bread mouldy. She set up a controf as shown in the diagram below,

bread—:Im__z_

airtight

container

Which one of the following set-ups should she use to carry ot the experiment?

(1) (2)
silica gel
thS?d hread (to absqrb
brea molsture)
3) (4)
- container container
4
L silica gel +_silica gel
{to absorb {to absorb
moisture) moisture)

{Go on to the next page)
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3. Devi set up an experiment as shown in the diagram below.

_______ Q7 bubbles

water plants

10 cm

What would happen to the bubbles when the distance between the lamp and the

container is changed?

(M
@)
©)
(4)

As the distance increases, the number of bubbles increases.

As the distanée increases, the number of bubbles decreases.

As the distance decreases, the number of bubbles decreases.

As the distance changes, the number of bubbles remains the same.

A farmer wanted to find out whether he could produce more vegetables by

increasing the amount of carbon dioXide in the greenhouse. He planted the same
amount of seeds of two different types of vegetable and watered them with the
same amount of water. After a month, he collected the vegetables and recorded
the mass of the vegetables in the table shown,

.Percentage of carbon dioxide

Type of vegetable 4 Spinach Lettuce Spinach | Lettuce

Mass of vegetabie {g) 9 12 12 18

What can he conclude from the table a.boye"?

(1)
(2)
)

“

The amount of carbon dioxide only affects the growth of the spinach.,

The amount of carbon dioxide does not affect the growth of the vegetable,
Spinach will always grow faster than lettuce at any amount of carbon
dioxide.

The greater the amount of carbon dioxide, the greater the mass of the
vegetable.

(Go on fo the next page)




Look at the diagram shown _bé_low and answer questions-5 and 6.

5.

5

: EL
(1) .-.E .G- ) G"
@) E F G
3) F G L
(4) F L G

£

Trisha accidentally fefl during her gymnastics lesson arid she could not move her
right arm.Her PE teacher suspected that she had fractured her bone(s). Which

bone part would the PE teacher suspect?

(M
@
3

-4

H

K
L
M

(Go on to the next page)
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The diagram below shows the human d:gestwe system. Refer {o this diagram to answer
Questions 7 and 8.

7. Where does digestion take place?
() A. B and C only
@ A, C and E only
{3 C, D and E only
4 C, D and F only
8.
stream?
(m c
2 D
@ E
@ F

Which part of the digestive systfam does most digested food enter the blood

(Go on {o the next page)
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An insect has just landed on a flower bringing along some pollen grains.

C

Which parts of the flower shown above are involved in the process of pollination?
(1) AandBonly

() BandConly

{3) C and D only

4) B, C and D only

The diagrams show different fruits with special characteristics.

(Go on to the next page)
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Which one of the following shows correctly the stages of development in a plant?

8

()

adult
plant

@

adult
plant

&)

(4)

e" ;

B

adudt
plant

seedling

{Go on to the next page)
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g

Clarence put the same amount of seeds in 2 pots labelled A and B. He placad both
pots In a school field, Pot A is placed under a shade and Pot B is placed under the
hot sun. He watered them regularly with the same amount of water and recorded
the growth of the seediings daily in a graph below.

Averaga height
of plant {cm)

7
6 -

R * Day

What can Clarence conclude from this experiment?

(1
(2)
3
@

The amount of air affects the rate of growth
The amount of soil affects the rate of growth
The amount of light affects the rate of growth
The amount of food affects the rate of growth

(Go on to the next page)
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The graph below shows the -number of weeks at each stage in the life cycle of an insect.
Refer to this graph to answer qUestions 13 and 14.

T T T r + Stage

Egg Nymph Adulf’ Adult
male female

13.

14.

How many weeks would the insect take to become an aduit after the egg is

© hatch

(1)
(2)
(3)
(4)

ed?

12
20
25
29

¢

Which of the following insects has a similar life cycle as the one above?

(1
(2)
(3
{4}

Beetie
Butterfly
Mosquito
Dragonfly

(Go on to the next page)
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156.  Eye colour is a characteristic that can be passed down from parents to their
children. The table below shows the eye colours of four students and their
respectwe parents.

Eve colour
Student Mother Father
Alison Brown Black Brown
Beth Black Black Brown
Cilaudia Black Black Black
Dion Brown Brown Black

Based on the table, which of the following statements is true?

(1) . When a child has black coloured eyes, her father will most likely have black
coloured eyes.

(2}  When a child has brown coloured eyes, her father will most likely have
brown cofoured eyes.

(3  When a child has brown coloured eyes, her mother will most likely have
brown coloured eyes.

(4} When a child has black coloured eyes, at least one of her parents will have
black coloured eyes,

END OF BOOKLET A1
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For each question from 1 to 30, four options are given. One of them is the correct answer, Make
your choice and shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet. '
{60 marks)

16.  Two similar beakers, A and B, were filled with the same amount of ice cubes and placed
on a steel surface and a wooden surface respectively as shown in the diagram below.

Beaker A BeakerB

ice cubes

steel surface wooden surface

Four students made the following statements about the set-up,

Student Statement
Amy "~ Heat travels from the steel surface to the ice In Beaker A.
Belle ‘ The ice cubes in Beaker B will melt faster than those in Beaker A.

Cindy The steel surface feels cooler than the wooden one as if loses heatto
the beaker of ice more quickly.

Debbie The wooden surface feels cooler than the steel one as it loses heat
. more quickly from the surrounding air.

Who made the correct statemenfs?
(1}  Amy and Belle only

(2)  Amy and Cindy only

(3) Belle, Cindy and Debbie only
(4)  Amy, Cindy and Debbie only

(Go on to the next page)



17.  Shanon had a container with a capacity of 100 cm®. She fitted a pump fo the
container. Each fime she pressed the pump, 100 cm® of air would enter the container.
Shanon pressed the pump 5 times.
pump
container ——
100 cm®
Based on the Information given, which of the following graphs shows the change in
volume of air in the container?
(1 ) Volume of alr In (2) Volume of air In
conta!rjer cm®) contaiﬂfr (cm®)
500 500
400 400
300 300
20077 2007
100 1007
T T T T o T T T T oo
of pumps’ of pumps
i 2 3 4 5§ 1 2 3 4 5
(3) V.élu_r_ne_ of girln (4) Volume of aicin
container {em’) container {cm?)
A : A -
500 , 500 —
400~ ' 400 —
|
300—1. 300~
200 2007
100 7 100"
—I ' 1 | l > Number —l » Number
of pumps l I I of pumps

(Go on to the next page)
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18. Naomi carried out an experiment using, Set-up 1 and Set-up 2. She placed four cards,
W, X, Y and Z, each made of different matetials, In different positions as shown in the
diagrams below.

Material W Material X Material ¥

Set-up 1

Material Z

Set-up 2 rubber duck .

When the identical torches were switched on in both set-ups, a fuzzy shadow of the
teddy bear was seen on Material Y. However, no image was seen on Material Z.

Which of the following sets describes Materials, W, X, Y and Z correctly?’

(N Transpareﬁt .Transparent } Opaque Trans[ucent
(2)‘ ' "Tréhsparent Translucent Opaque - -Transparent
(3)‘. | Opaque Tr;nsparent Transparent Translucent
(4) Transparent Translucent Opaque Qpague

{Go on to the next page)
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19. Beaker X containing sea water was heated. A metal tray was placed over Beaker X.
Beaker Y was positioned underneath the end of the metal tray as shown in the diagram

below.

metal tray

Beaker X
sait water

After some time, water was collected at Beaker Y.

Which of the following best explains why the rate of collection of droplets decreases as
the heating continues?

(1)

2

&)

(4)

As the heating continued, Beaker X lost heat and became cooler, thus,
condensation slowed down,

As the heating continued, Beaker X gained heat became hotter, thus,
condensation sped up.

As the heating continued, the metal tray lost heat and became cooler, thus,
condensation sped up.

As the heating continued, the metal fray gained heat and became hotter,

‘thus, condensation slowed down.

I

{Go on to the next page)
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" Hannah carried out an experiment to find out how well different materials conduct heat.

A, B and C are 3 cups made of different materials. Each was filled with the same amount
of water at 100°C as shown in the diagram below.

Material A Materidd B Material C

The changes in the temperatures of the water in each cup were then recorded over a
period of time. The graph below shows the temperature change in the waterin the 3
cups.

Tempe iature
A

»Time

Based on the graph, three students made the following conclusions.

Mcena: Material C is the best conductor of heat,

Natatie: ~ = Material A is the best material to make a container for stonng ice blocks.

Odelia: . Material B is the best material to make a thermos flask to keep your
coffee hot,

Who made the correct conclusion(s)?

(1) Mona only
(2) Natalie only
(3) Natalie and Odelia only

(4)  Mona and Natalie only

(Go on to the next page)
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21. . The diagram below shows a simple floor plan of an air-conditioned room with two
 windows. -

glass window

The temperature in the room measures 15°C while the temperature outside the room
measures 29°C. After some time, water droplets formed on the windows.

Where will the water droplets most likely be found?

(1) AandB only
(2) AandD only
(3)y BandDonly

(4) CandD only

(Go onto the next page)




22. Candace heated a beaker of ice over a period of fime. The temperature changes that
took place during this period of time are shown in the graph below. Study the graph
below carefully. '

Temperature {0°C)
A

100°C

*Time
{rninutes)

Which part(s) of the graph is heat gain taking place?
(1) BConly
(2) ABand BC only
(3) BCand CD only.

(4) AB, BC and CD only

(Go onto the next page)
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Kayta made a stick puppet and added a huge metal star on its body. When she shone a
light on the puppet, the star looked shiny.

Kayla's puppet

metal star

The arrows in each diagram below indicate the paths of light that allowed Kayla to see

the tight shining on the puppet’'s metal star.

Which of the following diagrams shows the correct paths of light?

metal star
on puppet

metal star |
on puppet

matal star
on puppet

metal star
on-puppet |

(Go on to the next page)
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The diagram shows how 5 bar magnets are attracted to each other and the letters

representing the poles of the magnets.

If 3 of the magnets are selected and placed next to each other, which one of the

following arrangements befow is a possible arrangement?

(1N

()

>

*.1 .

@

)

C ‘D
F
£
G H
J I
a:
B .
¢ n

(Go on to the next page)
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"25.  Siudy the diagram below,

A)

Melting (occurs at 100°C)

B Condensation
(occurs at 0°C)

A and B are processes while i) and ii} are the states of matter.

Which of the following sets represent them correctly?

e
(1) Evaporation Freezing Solid Gas
(2) Evaporation - Melting ) Solid | : Gas
(3) Boiling Freezing Solid Gas
@) [ _ Bolling Meiting G|  Soid
!

{Go on to the next page)




12

26.  Study the flow chart below carefully.

Objects in the house
‘Metals . Non-metals
A B C b
Steel chair Aluminium foil Flexible Not flexible | Dcor
[ron nail Copper wire Teak Flooring
Cling wrap Pen holder -
Shower curtain Water botile

Which of the following sets best represents the groupings A, B, C and D?

A g B C % D
)] Ma;netic ] Non-magnetic Plastic | Wood
(2) | Non-magnetic |  Magnetic | Rubber Plastic
3) | . ~Rusty Non-rusty Cloth | Wood
. - rd
€Y Can.be Cannot bs Rubber Wood
scratched scratched

{Go on to the next page)
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- 27.  Natalis helped her mather wash the cups after tea. She stacked the wet cups, one on
top of another as shown in the Diagram A below and left them to dry.

Diagram A

Natalie's mother suggested that the cups would dry faster if she hung them as shown in
Diagram B below.

Diagram B

The following statements are some of the reasons thaf Natalie could think of with
regards to her mother's suggestions.

Reason 1: | The cups in Diagram A are stacked up, hence, the cups have less
exposed surface area, resulting in a lower rate of evaporation,

Reason 2: | The cups in Diagram B are hung with space apart, hence, the cups have a
- 7] targer exposed surface area, resuiting in @ higher rate of evaporation.

Reason 3: | The cups in DiagramB are hung in a row, hence, the cups are blocking
each other, resuiting in a lower rate of evaporation.

Whic:h. of the reason(s} above is{are) correct?
(1) 1 only
(2) 1and2only
(3) 2and3only

(40 1,2and3only

(Go on to the next page)
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14

Raju wanted (o find out whether a nail was magnetized. He put the nail near a magnet, a

compass and a paper clip. He recorded his observations below.

A
B
C.
D

[t repelled the magnet.

It attracted the magnet.

It attracted the paper clip.

it could move the compass needle.

From which of the above observations can he be sure that the nail was magnetized?

m
(2)
@)
4)

A only
A and B only
B and C oniy

A, CandD only

(Go on to the next page)
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Tessa wanted to study how clear the water in a river was. She collected water from two
different parts of a river, X and Y. '

In her experiment, she used fwo identicat beakers, A and B. At the botftom of each
beaker, she placed a one-dollar coin. Then she poured water from part X of the river into
beaker A until the coin could no lenger be seen from the top.

She repeated the experiment using the water from part Y of the river with beaker B.
The results of the experiment are shown below.’

. water from part_| -

beaker A

beaker B

| waler from part
Y of river

X of river w::*
= )

one-doilar coin’

From the resuilts above, Tessa concluded that beaker B contains clearer water.

Which of the following statement(s) was({were) the correct reason(s) for her conclusion?

A

(1)
(@)
(3)
4)

Tessa could see the one-dollar coin through a'greater volume of water in beaker
B as compared to beaker A,

Water in part Y of the river is clearer as light can pass through a larger volume of
water, allowing Tessa to see the one-dollar coin at the bottom of the beaker.

o IS
Water in part X of the river is fess clear as light can only pass through a smaller
volume of water. ’

A only
é only
A and B only

A BandC

(Go onto the next page)




30.
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Rebecca placed an object at position M and shone a torch at position K. A shadow was
cast on-the screen as shown in the diagram below.

{ }—-ruler

Rebecca wanted to obtain a smaller shadow than what was formed earlier. At which

positions of the ruler should the torch and the abj

shadow on the screen?

(1)

@

3)
(4)

ect be placed so as to obtain a smaller

Position of torch Position of object
A K N
B J K
C L M
b J M
A and C only
A and D only
B and C only s
B and D only

(Go on ta the next page)-
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For questions 31 to 44, write your answers in this booklet

The number of marks available is shown in brackets ( } at the end of each question or part
question. ‘ ) (40 marks)

31 Study the picture below and answer the questions carefuily.

(8  The above organism is an insect. Why? (1m)
Reason 1;
Reason 2
‘.
«(b)  Namethepartlabeiled H. - (1 m)

(Go on to the next page)
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(a)

(b)

Study the classification chart as shown below.

Living Organisms

Can Yes
photosynthesize Plants
Flowering Non-flowering
| I
A B
' Yes
Can move .
on its own Animals
I
| [ l |
Mammals Insects Birds Fish
c | [ ]
D E F | 6

Classify the following organisms by. writing the correct letters A, B,C, D, E, For G in

the boxes given. (2 m)
" Living Organism 1 Letter —?
o) i Dolphin
P . !’
(i) : Penguin
(i) Fern
(iv) Fungl
Why is the Fern classified in the respective box? (1 m)

(Go on to the next page)




33 Two similar plants are placed in identical jars, each containing the same amount of
water as shown in the diagram below.

layer of oil rdots
wrapped in
Bt o plastic bag
= _F— water =]
P4
Set-up 1 Set-up 2
(a) What will happen to the plant in Set-up 2 after a week?
Give areason for your answer, (1 m)
(b) What is the purpose of the layer &f ail in both set-ups? {(Tm)}

{Go on to the next page)
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(a}

(o)

0N

(i}

Mr Png removed a ring from the stem between X and Y of a plant as shown in diagram
1. After some time, the stem was swollen as shown in diagram 2.

X
Y
Diagram 1 Diagram 2
Explain clearly what caused the swell at the parts Xand Y. (2 m)
At X:
AtY:

Mr Png,then-p[i.acked off a leaf from the plant and examined the leafunder a

What are these 'openings'?

" microscope. He noticed there were a lot of finy ‘openings' on the underside of the leaf.

(2 m)

What is the function of these tiny ‘openings’?

(1m)

{Go on to the next page)
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(@

)

The picture and the’ graph befow show the germination and development of a seedling.

Germination and development of a seedling

&
L‘x -------- seed leaves
Gl I A [
see
P -~ _ dling
8 o
.
o T~ Bt
k= T~
a - T~
g ;'-
o= \\.\
< T
S
a i kL, d
° + -2 3 a s & 7 8
Days

Based on the graph, what happened to the seed leaves from Day 1 to Day 87
Give a reason for your answer. ) i (12 m)

"What is the relationship between the mass of the seed [eaves and the mass of the
seedling? (1 m)

(Go on to the next page)



36 Sue found a flower in her garden and drew a cross section of it as shown in the
diagram below. '

(a) Fill in the blanks with the correct flowsrpards-orthe functions of the parts given, (2 m)

Flower part - Explanation

stylé

Ovule

(b) By observing and touching the fléwer, Sue congluded that the polien grains found in
the flower are dispersed by insects.
State a reason for her conciusion. (1 m)

(c) Explain how fertilisation takes place In a flower after the polien grains have tanded on
the flower. (1 m)




John's family consists of three generations.

1% Generation: Paternal grandfather and Paternal grandmother
Maternal grandmother

2" Generation: Father
Mother
2 paternal aunts
1 maternal aunt
1 matemal uncle

3™ Generation: John
2 sisters

Based on the above information;-complete-John's family tree in the space provided.
Indicate “John” in the family tree. (3 m)

Legend
O Female

1" generation - [ l ' [] Male

END OF BOOKLET B1
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For questions 38 to 44, write your answers in the space provided. _
o (20 marks)

38.  Jenny wanted to test the strength of Magnets, A, B, and C. She hung the magnets on
a rod and placed a tray of thumbtacks below them. The diagram below shows what
she had observed.

Magnet A Magnet B Magnet C

;

CRATTEMATTEMATT K AATT
' a fray of thumbtacks

(a) Based on her observation above, she concluded that the strongest magnet is
Magnet A. Do you agree with her? Give a reason to support your answer. (1m)

Jenny then placed a stronger magnet, Magnet D, between Magnet A and Magnet B as
shown in the figure below.

Magnet C

Magnet A Magnet D Magnet B

CAATENMATTENAT T KA AT

a fray of thumbtacks

(b)  What will happen to Magnets A and B. (1m)

(Go on to the next page)



39. Jasmine wanted to find the volume of Object A She tied Object A to a string, before
lowering it into-the water in the displacement can as shown in Diagram 1.

Object A

displacement cangasl T || displacement caneat

TR et

measuring==:

' measuring == ;
cylinder

cylinder

Diagram 1: Before experiment Diagram 2: During experiment

Her friend said that the amount of water collected in the measuring cylinder as shown in
Diagram 2 is not an accurate volume of Object A.

(@)  What could be done to improve an the execution of the experiment? (1m)

Assuming that Jasmine had made an improvement to her experiment as mentioned
in (a), she then replaced Object A with a bottle corl (tied to a strmg) and repeated the
steps above to f' nd out the volurme of the cork.

(b} . Give a reason why her method to find the volume of the cork above would not
_.be accurate ? (1 m)

(c) What could be done so that she could cbtain the volume of the bottle cork
accurately? {1m)

(Go on to the next page)




40. A group of students performed an expetiment to obtain pure water from sea water by
using the set-up as shown in. the diagram below.

plastic sheet  ice cubes

L

——glass tank

e — f— —— ]

o I NS = e 2 3000m O SE2
- water

a belaker

(a) After two hours, 500mi of pure water was found in the beaker.

Explain how the pure water was obtained. (2m)
(b) What was the purpose of placing the ice cubes on the plastic sheet? (1m}
Id

{Go on to the next page)



At the same time, another group of students did a similar experiment with the same
amount of sea water and ice cubes. However, they replaced the beaker with a large
basin to collect water as shown in the diagram below.

plastic sheet ice cubes

L glass tank

|_3000mi of sea
water

a basin

(c) After two hours, only 200ml of pure water was found in the basin.
Why was the amount of pure water collected in this set-up lower than the set-
up earlier? (1Tm)

(Go on to the next page)




41. Sandra poured water into two similar bottles using the two set-ups, A and B as shown
in the. diagram below. ‘ . :

She noticed that the bottle in set-up B filled up faster than in set-up A,

{a) Explain clearly why the bottle in set-up B fills up faster than that in set-up A, (1m)

Sandra wanted to transfer a can of condensed milk info a jar. She made a hols on the
top of the can as shown in the diagram below.

Sandra realised that the milk did not flow out as fast as she had wanted it to be.

(b} What should she do to allow the milk to flow out faster?
Explain your answer. (1m)

(Go on to the next page)



42, Clara performed an experiment to see the effect of a layer of-oil on water plants. She
prepared two set-ups, A and B, as shown in the diagram. '

layer of ol
pond water —

pond water —

Except for the layer of oil in set-up A, the other variables in both set-ups were kept
constant.

A few weeks later, she observed that the water plants in set-up A died but the water
plants in set-up B remained healthy.

(a) Give a reason why the water plants in set-up A died. (1m)

The picture below shows leékage of oil from a tanker in the sea.

tanker

4

(b)y ~Whatis the effect of this leakage of oil in the sea? (1m)

(c) Explain how the leakage of oif shown above could affect the fishes in the sea.
(1m)

(Go on to the-next page)




43. . Joanna was trying to look at what was on the top of the tall cupboard. She méde an
. instrument to help her.té do so.

—2" opening @——object

instrument | O
o L._.tall cupboard
Joanna looking’
through the st
4% opening 1™ mirror

Joanna realised that she was unable to see the object. She thought of adding a
second mirror to her instrument.

(a) Where should she add the second mirror?
In the diagram above, draw the second mirror clearly. _ {1m})

(b) After adding another mirror in (), would Joanna be able to see the object
using her instrument if there was no light at all in the room?
Explain your answer. (im)

=n on to the next page)



44.  In an experiment, Jasmine placed three identical kettles, A, B and C, on three metal
plates of the same material with different surfaces. The keftles contained the same
amount of water af room temperature. The metal plates were then heated with the
same amount of heat from below as shown In the diagram.

Kettie A Kettle 8
metal plate
“with-
2cmga
metal. plate
wilh
no gap

She then recorded the time taken for each kettle to boil at 10G°C as shown in the table
below.

Kettle Type of metal plate - Time taken to boll at 100°C (minutes)
A Metal plate with no gap- - 10
B Metal plate with 2cm gap 15
C Metal plate with 4cm gap 20

(a) Based.on the information in the table above, Kettle A taok the shortest time to
boil. Explain the reason for this. (1m)

(b) What can she conclude about the relationship between the length of the gap in
the metal plate and the time taken for the kelile to boil at 100°C? (1m)

(Go on to the next page)




In a desert, the Horned Viper, (which is a kind of snake) crawis on the hot sand while

10

the Thomy Devil, (which is a kind of lizard) runs using its four legs. -

Based on this observation, the statements below are made to give reasons why the
Thomy Devil can move over a longer distance on hot sand compared to the Horned

Horned Viper Thom Devil

Viper in a desert.

(c). -Wiite atick ( ¥ ) if the statement Is a correct reason and a cross {(X)ifthe

statement is a wrong reason in the boxes below.

Statement
(i) {The Thorny Devil has a smaller surfaéce area of contact with the

hot sand, resuiting in less heat being transferred to its body.

(it} | The Horned Viper has a larger surface area of contact with the
hot sand, resulting in more heat being transferred to its body.

(i} | The Thorny Devil has thorns as its outer covering which protect it
from the heat of the sun.

(iv) | The Horned Viper has scales as its outer covering which does
not protect it frorn the heat of the sun.

£
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31)a)1)it has 3 main body party.
2)It has 3 pairs of legs.
b)Thorax. =

32)a)D, F, B, C

b)The fern is a living organism, can photosynthesize, is a plant and is
non-flowering. :
33)a)It will die. As the plastic bag is waterproof, water in the jar is unable to
be absorbed by the roots. Water is needed for the plantto survive and-the
plant does not have it.

'b)To prevent evaporation.

34)a)At X: Food from the leaves were unable to reach the bottom part of the
plant as the phloem was removed when it was cut off.

At Y: Water and mineral salts absorbed by the roots were unable to reach
to reach the upper part of the plant as tfie Xylem was removed when it was cut
off,

b)i)Stomata
ii)It allows the exchange of gases to take place.
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35)a)They decreased in mass, because the seedling is using up the food stored
in the seed leaves. _

b)The greater the mass of the seedling, the lower the mass of the seed
leaves.

36)a)Style : It supports the stigma. '
Ovule: Contains female reproductive cells and will develop into seeds
after fertilisation.
b)The flower is colourful and the stigma is sticky.
c)The pollen grains from the anther [and on the stigma and a pollen tube
grows down to the ovary where the male cell fuses with the female cell.

37)

38)5 )Yes. It was able to attract the most amount of thumbtacks from the
greatest distance.
b)They will be attracted to magnet D.

39)a)Ensure that the water level is just below the opening of the can before
the experiment.

b)The cork will float and hence not the entire cork will be submerged in
water.

c)She should tie a heavy object to the cork when submerged it.
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40)a)The molecules in the sea water gained kinetic energy and evaporated.
When the water vapour came into contact with the cooler surface of the plastic
sheet, it lost heat and condensed into water droplets. When the water droplets
became too heavy, they dropped into the beaker.,

b)To cool the plastic sheet so that condensation can take place.

€)The surface area is smaller due to the big basin and hence the
evaporation rate is slower in two hours.

41)a)Air occupies space. In set-up B, air could escape while in set-up A, it
could hot, thus water in set-up A could not flow in faster than set-up B,

b)She should poke another hole in the can Air can enter through the extra
hole and push the condensed milk out through the other hole.

42)a)Carbon dioxide was unable to pass through the oil and without carbon
dioxide, the plant was unable to make food and hence died.

b)It will pollute the sea and kill sea creatures,

c)Plants cannot photosynthesize, fishes will die as there will be no more

supply of oxygen.
43)a)

_ o
A o pening G ——obleat

instrument — O

o |—1ali cupboard

Joanna looking
through the
1% opening

l

b)No. Light will not be reflected by the second mirror to the first and
Joanna cannot see the object as there is no light source,
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44)a)Kettle A had the largest surface of contact with metal plate more heat s

transferred.
b)The greater the length of the gap in the metal plate, the longer the time

taken for the Kettle to boil at 100°C.
o)
i) v
iti )X
iv)X
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